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Impeortant Instructions
for Multiple Choice Question (MCQ)

* Write Subject Name and Code Registration numbser, Session and Rodl
number i the space provided on the Answer Script
Example : Such as for Paper M-A (MCQ) and TH-B (Descoprivel.

¢ Candidates are required to attempt all guestions (MCQ). Below each

question, four alternatives are given [ie, (A), (B), (C), (D}]. Cnly on=

of these alternatives is ‘'CORRECT answer. The candidate has o write

the Correct Alternative [Le (AYBNC)AD)] against each Question No.

m the Answer Script,

Example — If alternative A of 1 15 correct, the write
1. — A

* There 15 no negative marking for wrong answer
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wifFeer BrH 2R (MCQ) &+ Geeal ewe=tiael

» FEzenn e T fEEE (Subject) T SR T, @ETET WS, (PR
drn R e e o

TEET — 0T Paper [l-A (MCQ) <<% 1B (Descriptive) |
Sublect Code -

Subject Name -

« wEdi=E Fom wEE (MOQ) TEa o ) el o 55 =0 S
SER, WA (A), (B), (O) @ (D) =3 (e we sirEifive = S
AT (A)/(B)/(C)/ (D) i Frmnes oy v Cronz Seoia fare
B
TRy — Wi 1 e e A Ter A o o e T -

1. — A

o o SEm = o eoibs s @5
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Each guestion cames 2 marks

—
e A T X

1. The word ‘environmemt’ Onpmated from the word —
(A) Emaes
(B) Erviron
(C) Emrons
(D) Emarion
S| WSS WS SRS O WU g —
(A) gwiess
(B) sr=mae
(€) gzimnn
(@) =wreisn
2. Which one of the followme 13 the most important element of ecosystam?
(A) Epergy flow
B] EcﬂIﬂg:aI syrcessien
(C) Food cHan
(B) Food web
(A) "re2a=
(C) % =55
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2 Which ons of the llowing 15 biodegragable?
(A) DDT
(B) Plastic
(C) Cowdung
(D) Alpmmnmm
| TSR @ s
(A) T=hem
(B) =
(©) o=
(D) TmEaeEw

4. The largest mumber of tiger reserves are located i —
(A) West Bengal
(B) Kamataka
(C) Andhra Pradesh
(B) Madhyva Pradesh
8| T WY HES TEE —
() #iEs=s=
(B) =i
(C) ===
(D) STGHT

(A) 1872
(B) 1582
(C) 1985
(D) 1952
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(A) a3
(B) vab3
(€) sz
(B &

5. Example of renewsble nafiral resources 15—
(A) Coal
{B) Salar power
(€) Iron
(D) Petraleum
5| TSR ST T o T —
(AY =5
(B) F=
(€©) ==
(D) cotaivEm

7. Air pollution 15 NOT caused by —
(A) Smoke
(B) Loud speaker
(€ Sewaze
(D) Insectoudes
4| G TETECE T W —
(A) cdrE
(B) =F= g
(C) v =25
D) i
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8 The author of the bock ‘Silent Sprng’ 15 —
(A} Charles Darwin
(B) Rachel Carsen
(C) & G Tansley
(D) E. O. Wilson
vl SRR Er 6 e —
(A) B7A =mean
(B) e T
(€) & & Im
(D) = & ===

9 The chemical that is used to ripen fianso is —
(A) Calewim sulplede
(B) Calewsm Carbonate
(€) Calomm Chionde
(B) Calcmam carbide
5 | W EEIEE T 8 I 99 T —
(A) =T TET s
(B) e wm S
(C) ==rew FEEE
(D) = e s

10. Bhopal zas tragedy took place m the year —
(A) 1875
(B) 1930
(C) 1584
(D) 1986
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0 TP T R (H =R O —
(A) v
(B) ssre
(€) s5¥s

11. Deforestation gensrally decreases —
(A) ramisl
(B) Sail ercsion
(€) Drauzht
(D) Global Warming
SY | TEEAR FEETT S 0 —
(A) §BaT=
(B) ==y
(C) %51

i i St M S o . . R . M i i . R . R . R . Wi i il S T . S i S il

12 In which district of West Benigal Buxa Tiger Reserve 15 sruated?
(A) Daneclnz
(B} Alpurduar
(€) Coochbehar
(D) South 24 parganas
v | HREET W ST T 4N 099 T gt
(4) s
B) =i TEE
(€) =TT

(D) w75y 38 wEse
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13 Full form of CNG —
(A) Common natural zas
(B) Cemmaon nanotal gas
(C) Certified natural gas
(D) Compressed naniral gas
Y8 CNG & 9 e —
(A) ==% wmIEE T
(B) === o= 2T
(C) FiFFEs wnEs 09
(D) wr=mE eEE H

14 The malanal parzsité 1s 3 —
(A) Protozoa
(B) Bactena
(€) Vims

(B) Funmus
\B| WETE v e

(A) Esls
(B) <oTrer=e

(C) ===

12 Who discoverad Dzone hole?
(A} Dr ] C. Earman
(B} Charles Darwin
(C) Sir Jsaar Nowion
(D) Emmst Hacckel
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V| AT BE OF Sleem Tt

(C) ¥ =B =
D) =wa %

16. Whe started “Narmadz Sachao Andolon™
(A) MNedha Patkar
{B) Kuan Bed:
(€ 58 L Bamoma
(D) Nene of these
Y| T WEIE Wm0 T S
(A) =% #o=g
B F=m
(C) 57, &=, ¥ms]
(B) e o iE

17 Radnmm = discoverad by —
(A) Keplar
(B Br. . C. Bose
(C) Gragor Johan Mendel

(D) Madame Cune
V& CATEE EenE o —
(A) =oA=E

Bz =5 &n
(C) %5 =iw GinsEs
(D) === 7=

—— — — — — — — S— A S . — — — — — . . T . . — — — — — J—. — .
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18. Vatammn D deficiency canses —
(A} Searvy
B Rickst
(C) Malama
(D) None of the aboe
se | TERfw TF 8T WEE IE —
(A) =TrE
B) =7
(C) s ae
(D) e#m=m (FIAToR o

1% Which one of the following 152 greenhouse gas?
(A) Nitrogen
(Bl Arzon
(€) Oxygen
(D) Methane
Y| WIS CEND ¥ Fmeien W
(A) wRE==
(B) =wte

(C) =F==

20 Full fort of COD is —
(A) chemical oxvpen demand
(B) cagmium oxygen demand
(C) compesse oxyzen demand
(D) compostte exyzen deficit
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301 T, 8, TS, < =1 s = —
(A) = v Tus
(B) =refe === =uis
(C) FT3F Tar=w =uE
(D) == Saes Seme

——— — — — — — —. . — — — — — —  — . — — —. S — — — "

21, Which one of the followmg is 2 Manprove?
(A) Ranthambers
(B) Sunderban
(€) Westemn ghats
(D) Andaman
(A)g99==
(B) T
(C) wisemm
(D) T

22 International forest day observed on —
(A} 21% March
(B) 5 fune
(C) 15® Augnst
(D) 10™ December
3| TS R R —
(A) 3308 975
(B) &= =57
(C) ¢ =5

s i i B el Tl S i s it (e el el [l i s i S et e (el el el i i
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33 Water pollution protection act m Tndis 15 snacted m —
(A) 1832
(B) 1984
(€) 1874
(D) 1992
28| T TV Y ST T AT W —
(A) s=¢%
(B) s:=8
(C) =38

(D] 352

24 Earthquake 1 measurs by —

(A) Barometer

(B) Setsmoeeaph

(C) Thermometer

(D) None of the above
18| e el T —

(AY =T

B) TR

(C) <

(D) S9=F FoE 75
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(€) HCV

(D) MNene of the above
32 AIDS. &7 Fay —

() =R &

(B) &% % &

(C) & F =

(D) B9ES =T s v E
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